5.20. A military commander wishes to destroy an
enemy bridge. Each flight of planes he sends out has
a probability of 0.8 of scoring a direct hit on the
bridge. It takes four direct hits to completely destroy

" the bridge. If he can mount seven assaults before the

bridge becomes tactically unimportant, what is the
probability that the bridge will be deguoyed?

e are /ooki@ Gor
PCAY
Lhere A 75 e event fhe &W%e s JCB‘I@J
Sihe (we oo - (et T e Y1t V\suczcsm(:»/ ' /aomémj ron
e ore 0@-@('“5 »w\fﬁl{« o negeAit Livorarsl RV corbh P=o‘8, r=9
ard et A @'\/NSPO\A&OS b c X 2T, wh X comrds
Hie nupbe o Eowé)'»j LI5S

+ .
Py = P(42x23)= 2 ()i 0
x=¢

=Tops.

35500




